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CVV-2 () - -2
600V CV CPEV (VE) - -1
6KV CV-T TIVE (FEP) - -2
(GP) - -3
PF/CD
600V FP
600V HP [
I
MCCB 1P- 30A 0.211 2.2KW 1.590
MCCB 1P- 50A 0.302 3.7KW 1.770
MCCB 2P- 30A 0.264 5.5KW 1.860
MCCB 2P- 50A 0.380 7.5KW 1.950
MCCB 2P-100A 0.526 11 KW 2.120
MCCB 2P-225A 0.741 15 KW 2.300
MCCB 2P-400A 0.894 22 KW 2.570
MCCB 3P- 30A 0.387 30 KW 2.920
MCCB 3P- 50A 0.558 37 KW 3.100
MCCB 3P-100A 0.708 45 KW 3.190
MCCB 3P-225A 1.040 55 KW 3.270
MCCB 3P-400A 1.260 MCCB 2P- 50A 0.380
MCCB 4P- 30A 0.503 MCCB 3P- 50A 0.558
MCCB 4P- 50A 0.725 MCCB 3P-100A 0.708
MCCB 4P-100A 0.920 MCCB 3P-225A 1.040
MCCB 4P-225A 1.352 MCCB 3P-250A 1.070
MCCB 4P-400A 1.638 MCCB 3P-400A 1.260
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s |325.0] 725 660 555| 605 650 540| 500 550 455
| 250.0| 620 560 470| 525 570  470| 430 475 395
s | 200.0| 545 485  410| 470 505  420| 380 420 350
» | 150.0| 455 400 340| 405 435 360| 320 355 295
o |100.0| 355 310 260| 325 345 285| 250 280 230
| 60.0| 255 225 190| 245 260 215| 185 210 170
- | 38.0| 190 170 140| 190 205 170| 145 160 130
s | 22.0| 130 120 100| 140 150 125| 105 115 97
« | 14.0| 100 91 76 | 110 115 97 81 88 74
s 8.0 72 65 54 81 85 71 64 64 53
" 5.5 58 52 44 66 69 58| ------- 52 43
w 3.5 44 39 33 52 54 VT3] [— 40 33
" 2.0 31 28 23 38 39 2| 28 24
2 [ ] [ 1( ) [ 1( )
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% | 250.0 | 535.0 560.0 470.0 250.0 | 395.0 455.0 380.0| 310.0 285.0 235.0
« | 200.0 | 465.0 485.0 410.0 200.0 | 340.0 390.0 335.0| 2725 2525 210.0
s | 150.0 | 380.0 400.0 340.0 150.0 | 275.0 320.0 265.0| 2275 2175 180.0
% | 100.0 | 290.0 310.0 260.0 100.0 | 215.0 245.0 210.0| 1775 1725 1425
+ | 60.0| 210.0 225.0 190.0 60.0 | 150.0 175.0 150.0| 1275 130.0 107.5
» | 38.0| 155.0 170.0 140.0 38.0| 1100 1350 110.0| 95.0 1025 85.0
» | 22.0| 1100 120.0 100.0 220| 80 930 77.0| 650 750 625
»| 14.0| 860 910 76.0 140| 630 700 59.0| 50.0 575 485
a 8.0| 620 650 540 8.0| 480 510 430| 360 425 355
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FPL etc. | FCL,LED [HfFLFLR|
[ 1 pl[ 1 Lam .

No. 2 [ [ 1 p [Im/ [1x] [Ix]
1]20.0] 86| 3.0 171.60 [2.00]| 75| 50| 10 750 A-322 |65.710.70 2 3,400 41.1 42 766 1094
21200| 86 3.0 17160 |2.00| 75| 50| 15 750 A-322 |68.310.70 2 3,400 | 39.6
31200| 86 3.0 171.60 |2.00| 75| 30| 10 750 A-322 |59.710.70 2 3,400 | 45.3
4120.0] 861 3.0 17160 |2.00| 75| 30| 15 750 A-322 |62.00.70 2 3,400 | 43.6
1]30.030.0| 3.0 900.00 [5.00] 70| 50| 10 500 A-322H|79.410.70 2 4,950 | 81.8
2 130.030.0| 3.0 900.00 [5.00] 70| 50| 20 500 D-322H|53.0 | 0.70 2 4,950 [122.6 | 120 489 699
3110.0|15.0| 24 150.00 |2.50| 75| 40| 10 300 d1-241 |66.8 | 0.79 1 1,800 | 47.4 48 304 385
4110.0|15.0] 2.4 150.00 [2.50| 75| 40| 10 300 d1-421 |66.8 | 0.79 1 3,200 | 26.7
5110.0|15.0| 2.4 150.00 [250| 75| 40| 20 300 d1-421|72.2]0.79 1 3,200 | 24.7

1 2
Series circuit) .........
1 2
1 2 1 2 1 2
Parallel circuit) ......... -
12 (1 22 1 1 2 2
{( D (2} 1 2
Impedance 1 2
11 2 212 (1 2171 1 2 cosp (1 2 F-1
11 21ic 1 J o1 c cose 3 F-2
Impedance 1 2
101 2 212
2 2 2 2 2 2
cos [{R(Ry +Xo )+Ra(Ry +X1 )} {(R1*R2) +(X1#X2) ]}l Z F-3
1J1 21je
2 2
cs [ 1 {(1¢) (c1 DI F-4
Impedance
F-1 1=] 4.0000] |3.0000 | 2] 4.0000] |3.0000 | =1 s.00000 | 6.00000
R1 X1 R2 X2 coscp=[0.80000
F-2 1] 4.0000] |3.0000 | 2= |3.0000 | =1 4.00000| 0.00000
R1 X1 X2 coscp=]1.0000
Impedance
F-3 1] 4.0000] |3.0000 | 2<] 4.0000] |3.0000 | =1 2.00000 | 1.50000
R1 X1 R2 X2 coscp=[0.80000
F-4 1] 4.0000] |3.0000 | 2= |0.1000 | = 6.15385] 0.76923
R1 X1 X2 cosc=]0.9923




TR Cable data

Zl 'El Zl ZZ
1 Z1 Z, l l
) Re  Xe RL XL E, L, [,
No.2 F-1
2) 72 73 Xe F-4
(3) Z3 Z RTR XTR coe. F-1
SC[KVar] DM KW L L
1 | 1¢p60Hz | 210 [v] | 100 kKvA CVT 14sq| 60[m]| 1L-1 10.00 | 0.850 2026 | 540
2 | 1p60Hz | 210 [v] | 100 KvA CV3C 38sq| 60[m]| 1L-2 20.00 | 0.850 203.6 | 1086
3 | 1p60Hz | 210 [v] | 100 KvA CVT 60sq| 60[m]| 1L-3 30.00 | 0.850 2030 | 1624
4 | 1p60Hz | 210 [v] | 100 KVA cvT | 100sq| 60[m]| 2L-1 40.00 [ 0.850 203.1 | 2167
1 | 3p60Hz | 220 [v] | 300 KVA| 12 Kvar| CVT 38sq| 120 [m]| 1Mm-1 30.00 | 0.750 206.2 | 984
2 | 3¢p60Hz | 220 [v1 | 300 kvA| 17 Kvar] CVT 60sq | 120 m]| 1M-2 40.00 [ 0.750 2074 | 1319
3 | 3¢p60Hz | 220 [v] | 300 kvA| 21 kvar] CVvT | 100sq| 120 [m]| 1M-3 50.00 | 0.750 209.1 | 166.3
4| 360Hz | 220 [v] | 300 KvA| 25 Kvar| CVT | 100sq| 120 [m]| 1M-4 60.00 | 0.750 207.0 | 1976
2 = )
2 =
2 2 2
2\/ ( )
V( ) V( )
o V o V ( ‘ )
1 L ] 0
(0
a | ] b | | 0
3 2 = )
: 2 : +v/( 2 )
v( )
v(“© )
a | ] b | c |




